MOTORS, GENERATORS AND OTHER ELECTRICAL EQUIPMENT
SHALL BE PROVIDED WITH NON-COMBUSTISLE. SPLASH PROOF
2. SPRINKLER HEADS SPACED LESS THAN 1.80 M. (6 FT.)
SHALL BE PROVIDED WITH BAFFLES OR DEFLECTORS.
3. FLOOR DRAINS FOR OIL SPILLS SHALL BE PROVIDED
IN FLOOR SLAB FOR TRANSFORMER VAULT, BY PLUMBING
CONTRACTOR.
4. ALL PORTABLE FIRE EXTINGUISHER (PFE) SHALL BE "ABC”
EYPE DRY CHEMICAL UNLESS )OTHERW\SE SPECIFIED
INSIDE FIRE HOSE CABINETS.
5. ALL ELECTRICAL, MECHANICAL, AHU ROOMS TO BE
|_ BE PROVIDED Wk 10 L8S. FE~36 TYPE PORTASLE
T 6. TRANSFORMER VAULT SHALL BE PROVIDED WITH 1-50 LBS.
e WHEELED TYPE CO2 PORTABLE FIRE EXTINGUISHER.
_ 7. ALL PIPES PASSING THRU BEAMS/GIRDERS SHALL BE PROVIDED
\ SLAB SOFFIT SLAB SOFFIT WITH PIPE SLEEVES.
8. FINAL QUANTITY OF FIRE EXTINGUISHER IS SUBJECT TO APPROVAL
EXPANSION BOLT EXPANSION BOLT OF THE BUREAU OF FIRE PERSONNEL.
126 THREADED ROD R dia. THREADED ROD
- MATERIAL SPECIFICATIONS
FIRE LINES FIRE_LINES SHALL BE BLACK IRON
UNISTRUT CHANNEL
. OR APPROVED EQUAL " dio. x 'L LONG = - T T A G- 190 ke o%éN§é§RMéNMGE
@D\l IgDI N | THREADED ROD W/ s ,%a s BRAND OR APPROVED EQUIVALENT.
2 2 SHALL BE OUTSIDE SCREW AND YOKE (OS&Y
II\I\iIIIiII\-IlIIII TS 4 WASHERS ¢ = ] TR e e W
12¢ THREADED o O SPRINKLER HEADS ~ ALL SPRINKLER HEADS, PENDENT (CONCEALED,
ROD L L] 2 UPRIGHT & SIDEWALL) SHALL BE RATED 57°C
W x T \—FITI'INGS (135°F) TO 74'C (165°F) EXCEPT ON AHU,
MATERIAL WIDTH PUMP, MECHANICAL ROOM & KITCHEN SHALL BE
(Sing EHWASHER & THICKNESS EIGEJEF\’IIENI;YPE 79°C (175°F) TO 100°C (212°F).
STANDARD CLEVIS HANGERS FITTINGS FOR BEND PIPE/ LEG EN D :
STANDARD TRAPEZE HANGERS TABLE OF DIMENSIONS HORIZONTAL PIPE RECESSED PENDENT TYPE SPRINKLER HEAD
TABLE OF DIMENSIONS UNISTRUT 5 i 5 R —— L UPRIGHT SPRINKLER HEAD
CHANNEL X X SIDEWALL SPRINKLER HEAD
PART NO. | L |LOAD CAPACITY | CHANNEL ) o | 5 2 125 x 3 | W10 x 70 SPRINKLER RISER
P2700 300 3.20 kN P4000 HEX NUT 43 % 50 12 125 x 3 | M10 x 80 BTYSTS/IQEDP‘PE RISER
'K' x 'L’ LONG
P2701 450 2.00 kN P4000 CROSSMAIN OR FEEDMAIN LINE
48 95 50 12 |25 x 3 [M10 x 85 BOLT & WASHERS (DSP/AFSS) FIRE DEPARTMENT
P2702 600 1.45 kN P4000 60 105 55 12 25 x 3 | M10 x 100 CONNECTION SUPPLY LINE
FLUSHING CONNECTION
P2703 600 4.23 kN P2000 76 15 | 60 14 |40 x 6 [M12 x 115 BRANCH LINE
P2704 750 3.34 kN P2000 89 125 60 14 40 x 6 | M12 x 130 RISER NIPPLE
2-WAY LONGITUDINAL SWAY BRACE
P2705 | 900 | 3.50 kN P1000 114 | 145 | 65 18 |40 x 6 |M16 x 160 D-WAY LATERAL SWAY BRACE
P2705 1000 3.25 kN P1000 140 165 75 18 |40 x 6 | M16 x 190 PLAN 4-WAY RISER SWAY BRACE
Wox T —343 FIRE HOSE VALVE
165 | 185 | &0 18 |40 x 6 |M16 x 210 X ) UNISTRUT VERTICAL e HANGER
Py Py KIFE’FERg\II-é[hJAPEgSAL e FIRE HOSE CABINET
(= o= B eH STANDARD VERTICAL CLAMP | | [/ "= S PPE SR
P DO (10 LBS.) PORTABLE FIRE EXTINGUISHER
| 2 " BRACKET TABLE OF DIMENSIONS (.4, & | | + .¢.) 5 (50 LBS.) PORTABLE FIRE EXTINGUISHER
S 5 A 5 c — K L O] WHEELED TYPE
—————————  DRAN LINE
x
— WL 60 250 114 48 40 x 6 [M12 x 40 ————DJ———-C  INSPECTOR TEST CONNECTION
76 266 | 130 48 |50 x 8 |M12 x 40 - T DRAN VALVE
BRACKET Cert 2-WAY DSP & AFSS FIRE DEPT.
CONC. 114 304 168 48 50 x 6 [M12 x 40 ELEVATION ' CONNECTION INLET
WALL ,,*i 2-WAY SIAMESE TWIN ROOF OUTLET/
165 468 254 75 75 x 10 | M16 x 60 Aoy ROOF MANIFOLD
—— ~ ALARM CHECK VALVE ASSEMBLY
©\—/ © 219 519 305 75 75 x 10 | M16 x 60 H:?}
?PG
—T ~  PRESSURE GAUGE
BRACKET FOR BRACKET FOR 273 573 359 75 75 x 10 [ M16 x 60
VERTICAL PIPE VERTICAL PIPE 324 | 624 | 410 | 75 |75 x 10| M16 x 60 ABBREVIATION:
ACY ALARM CHECK VALVE
AFSS AUTOMATIC FIRE SPRINKLER SYSTEM
v CHECK VALVE
oL DRAIN LINE
DSP DRY STAND PIPE
v DRAIN VALVE
Fov FLOOR CONTROL VALVE
FHC FIRE HOSE CABINET
m DETAIL OF PIPE HANGERS, CLAMPS & BRACKETS o R
NOT To SCALE c INSPECTOR TEST CONNECTION
(05 & Y) GV GATE VALVE (OUTSIDE SCREW & YOKE)
PFE PORTABLE FIRE EXTINGUISHER
PG PRESSURE GAUGE
RN RISER NIPPLE
WFS WATER FLOW SWITCH
Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
Republic of the Philippines CONSTRUCTION FP
DEPARTMENT OF SCIERSE AND TECHNOLOGY OF PLANNING TEAM Meriam F. Fallar Edward C. Albaracin As Shown
S e High SCnoo DORMITORY BUILDING | FAD Chief C Direct
MIMAROPA Region Campus e ampus Director 1 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:



AutoCAD SHX Text
K x L

AutoCAD SHX Text
R

AutoCAD SHX Text
A

AutoCAD SHX Text
D

AutoCAD SHX Text
B

AutoCAD SHX Text
W x T

AutoCAD SHX Text
CHANNEL

AutoCAD SHX Text
L

AutoCAD SHX Text
LOAD CAPACITY

AutoCAD SHX Text
PART NO.

AutoCAD SHX Text
P1000

AutoCAD SHX Text
kN

AutoCAD SHX Text
3.50

AutoCAD SHX Text
900

AutoCAD SHX Text
P2705

AutoCAD SHX Text
P2705

AutoCAD SHX Text
1000

AutoCAD SHX Text
3.25

AutoCAD SHX Text
kN

AutoCAD SHX Text
P1000

AutoCAD SHX Text
600

AutoCAD SHX Text
P2702

AutoCAD SHX Text
P2703

AutoCAD SHX Text
P2704

AutoCAD SHX Text
750

AutoCAD SHX Text
600

AutoCAD SHX Text
P2700

AutoCAD SHX Text
P2701

AutoCAD SHX Text
450

AutoCAD SHX Text
300

AutoCAD SHX Text
P4000

AutoCAD SHX Text
kN

AutoCAD SHX Text
1.45

AutoCAD SHX Text
3.34

AutoCAD SHX Text
kN

AutoCAD SHX Text
4.23

AutoCAD SHX Text
kN

AutoCAD SHX Text
P2000

AutoCAD SHX Text
P2000

AutoCAD SHX Text
2.00

AutoCAD SHX Text
kN

AutoCAD SHX Text
3.20

AutoCAD SHX Text
kN

AutoCAD SHX Text
P4000

AutoCAD SHX Text
P4000

AutoCAD SHX Text
89

AutoCAD SHX Text
165

AutoCAD SHX Text
140

AutoCAD SHX Text
114

AutoCAD SHX Text
48

AutoCAD SHX Text
76

AutoCAD SHX Text
60

AutoCAD SHX Text
43

AutoCAD SHX Text
34

AutoCAD SHX Text
M12 x 130

AutoCAD SHX Text
14

AutoCAD SHX Text
125

AutoCAD SHX Text
60

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
18

AutoCAD SHX Text
185

AutoCAD SHX Text
80

AutoCAD SHX Text
165

AutoCAD SHX Text
75

AutoCAD SHX Text
145

AutoCAD SHX Text
65

AutoCAD SHX Text
18

AutoCAD SHX Text
18

AutoCAD SHX Text
M16 x 210

AutoCAD SHX Text
M16 x 190

AutoCAD SHX Text
M16 x 160

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
12

AutoCAD SHX Text
95

AutoCAD SHX Text
50

AutoCAD SHX Text
115

AutoCAD SHX Text
60

AutoCAD SHX Text
105

AutoCAD SHX Text
55

AutoCAD SHX Text
14

AutoCAD SHX Text
12

AutoCAD SHX Text
90

AutoCAD SHX Text
50

AutoCAD SHX Text
80

AutoCAD SHX Text
45

AutoCAD SHX Text
12

AutoCAD SHX Text
12

AutoCAD SHX Text
M10 x 85

AutoCAD SHX Text
M10 x 100

AutoCAD SHX Text
M12 x 115

AutoCAD SHX Text
M10 x 70

AutoCAD SHX Text
M10 x 80

AutoCAD SHX Text
114

AutoCAD SHX Text
273

AutoCAD SHX Text
165

AutoCAD SHX Text
219

AutoCAD SHX Text
324

AutoCAD SHX Text
75

AutoCAD SHX Text
573

AutoCAD SHX Text
359

AutoCAD SHX Text
624

AutoCAD SHX Text
410

AutoCAD SHX Text
75

AutoCAD SHX Text
519

AutoCAD SHX Text
304

AutoCAD SHX Text
468

AutoCAD SHX Text
305

AutoCAD SHX Text
75

AutoCAD SHX Text
254

AutoCAD SHX Text
168

AutoCAD SHX Text
75

AutoCAD SHX Text
48

AutoCAD SHX Text
76

AutoCAD SHX Text
60

AutoCAD SHX Text
D

AutoCAD SHX Text
266

AutoCAD SHX Text
250

AutoCAD SHX Text
A

AutoCAD SHX Text
130

AutoCAD SHX Text
48

AutoCAD SHX Text
114

AutoCAD SHX Text
B

AutoCAD SHX Text
48

AutoCAD SHX Text
C

AutoCAD SHX Text
M16 x 60

AutoCAD SHX Text
75 x 10

AutoCAD SHX Text
75 x 10

AutoCAD SHX Text
M16 x 60

AutoCAD SHX Text
75 x 10

AutoCAD SHX Text
50 x 6

AutoCAD SHX Text
75 x 10

AutoCAD SHX Text
M16 x 60

AutoCAD SHX Text
M12 x 40

AutoCAD SHX Text
M16 x 60

AutoCAD SHX Text
50 x 6

AutoCAD SHX Text
W x T

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
M12 x 40

AutoCAD SHX Text
M12 x 40

AutoCAD SHX Text
K x L

AutoCAD SHX Text
'W' x 'T'  UNISTRUT VERTICAL  PIPE CLAMP OR  APPROVED EQUAL

AutoCAD SHX Text
'K' x 'L' LONG BOLT & WASHERS

AutoCAD SHX Text
PLAN

AutoCAD SHX Text
FITTINGS

AutoCAD SHX Text
SLEEVE TYPE COUPLING

AutoCAD SHX Text
SLAB SOFFIT

AutoCAD SHX Text
EXPANSION BOLT

AutoCAD SHX Text
R dia. THREADED ROD

AutoCAD SHX Text
'K' dia. x 'L' LONG THREADED ROD W/ NUTS & WASHERS

AutoCAD SHX Text
'W' x 'T' MATERIAL WIDTH & THICKNESS

AutoCAD SHX Text
ELEVATION

AutoCAD SHX Text
FITTINGS FOR BEND PIPE/ HORIZONTAL PIPE

AutoCAD SHX Text
STANDARD CLEVIS HANGERS TABLE OF DIMENSIONS

AutoCAD SHX Text
STANDARD VERTICAL CLAMP TABLE OF DIMENSIONS

AutoCAD SHX Text
STANDARD TRAPEZE HANGERS TABLE OF DIMENSIONS

AutoCAD SHX Text
BRACKET FOR VERTICAL PIPE

AutoCAD SHX Text
BRACKET FOR VERTICAL PIPE

AutoCAD SHX Text
12  THREADEDROD

AutoCAD SHX Text
6mm. THK. SQUARE WASHER

AutoCAD SHX Text
UNISTRUT CHANNEL

AutoCAD SHX Text
HEX NUT

AutoCAD SHX Text
BRACKET

AutoCAD SHX Text
WALL  BRACKET

AutoCAD SHX Text
CONC.  WALL

AutoCAD SHX Text
HEX NUT

AutoCAD SHX Text
UNISTRUT CHANNEL OR APPROVED EQUAL

AutoCAD SHX Text
U-BOLT

AutoCAD SHX Text
12  THREADED ROD

AutoCAD SHX Text
EXPANSION BOLT

AutoCAD SHX Text
SLAB SOFFIT

AutoCAD SHX Text
2-WAY LONGITUDINAL SWAY BRACE

AutoCAD SHX Text
RN

AutoCAD SHX Text
FHC

AutoCAD SHX Text
(10 LBS.) PORTABLE FIRE EXTINGUISHER

AutoCAD SHX Text
(50 LBS.) PORTABLE FIRE EXTINGUISHER 

AutoCAD SHX Text
2-WAY DSP & AFSS FIRE DEPT.

AutoCAD SHX Text
CONNECTION INLET

AutoCAD SHX Text
PFE

AutoCAD SHX Text
DL

AutoCAD SHX Text
ACV

AutoCAD SHX Text
FHV

AutoCAD SHX Text
ITC

AutoCAD SHX Text
CV

AutoCAD SHX Text
FCV

AutoCAD SHX Text
AFSS

AutoCAD SHX Text
(OS & Y) GV

AutoCAD SHX Text
DV

AutoCAD SHX Text
GV

AutoCAD SHX Text
DSP

AutoCAD SHX Text
4-WAY RISER SWAY BRACE

AutoCAD SHX Text
DRAIN VALVE

AutoCAD SHX Text
FIRE HOSE VALVE

AutoCAD SHX Text
2-WAY LATERAL SWAY BRACE

AutoCAD SHX Text
FIRE HOSE CABINET 

AutoCAD SHX Text
PIPE SLEEVES

AutoCAD SHX Text
DRAIN LINE

AutoCAD SHX Text
WHEELED TYPE

AutoCAD SHX Text
INSPECTOR TEST CONNECTION

AutoCAD SHX Text
HANGER

AutoCAD SHX Text
RECESSED PENDENT TYPE SPRINKLER HEAD 

AutoCAD SHX Text
                   (135%%dF) TO 74%%dC (165%%dF) EXCEPT ON AHU, 

AutoCAD SHX Text
ALL SPRINKLER HEADS, PENDENT (CONCEALED, 

AutoCAD SHX Text
SHALL BE OUTSIDE SCREW AND YOKE (OS&Y)

AutoCAD SHX Text
                   PIPES SCHEDULE 40 "STANDARD" CONFORMING 

AutoCAD SHX Text
                   PUMP, MECHANICAL ROOM & KITCHEN SHALL BE 

AutoCAD SHX Text
                   UPRIGHT & SIDEWALL) SHALL BE RATED 57%%dC 

AutoCAD SHX Text
                  TO ASTM B-62 CHECK AND GLOBE VALVES 

AutoCAD SHX Text
                   TO ASTM A-120-1980 "MAYER" OR "SUPREME" 

AutoCAD SHX Text
FIRE LINES SHALL BE BLACK IRON (B.I.) 

AutoCAD SHX Text
MATERIAL SPECIFICATIONS : 

AutoCAD SHX Text
CONNECTION SUPPLY LINE

AutoCAD SHX Text
(DSP/AFSS) FIRE DEPARTMENT

AutoCAD SHX Text
DRY STANDPIPE RISER

AutoCAD SHX Text
DL STACK

AutoCAD SHX Text
SPRINKLER RISER

AutoCAD SHX Text
CROSSMAIN OR FEEDMAIN LINE

AutoCAD SHX Text
UPRIGHT SPRINKLER HEAD

AutoCAD SHX Text
SIDEWALL SPRINKLER HEAD

AutoCAD SHX Text
RISER NIPPLE

AutoCAD SHX Text
BRANCH LINE

AutoCAD SHX Text
FLUSHING CONNECTION

AutoCAD SHX Text
RN

AutoCAD SHX Text
79%%DC (175%%dF) TO 100%%dC (212%%dF).

AutoCAD SHX Text
TO ASTM B-62.

AutoCAD SHX Text
                   BRAND OR APPROVED EQUIVALENT.

AutoCAD SHX Text
LEGEND :

AutoCAD SHX Text
SPRINKLER HEADS    

AutoCAD SHX Text
GATE VALVES      

AutoCAD SHX Text
     ALL PORTABLE FIRE EXTINGUISHER (PFE) SHALL BE "ABC" 

AutoCAD SHX Text
SHALL BE PROVIDED WITH NON-COMBUSTIBLE SPLASH PROOF

AutoCAD SHX Text
     MOTORS, GENERATORS AND OTHER ELECTRICAL EQUIPMENT 

AutoCAD SHX Text
     TRANSFORMER VAULT SHALL BE PROVIDED WITH 1-50 LBS.

AutoCAD SHX Text
     SHALL BE PROVIDED WITH BAFFLES OR DEFLECTORS.

AutoCAD SHX Text
     SPRINKLER HEADS SPACED LESS THAN 1.80 M. (6 FT.) 

AutoCAD SHX Text
     IN FLOOR SLAB FOR TRANSFORMER VAULT, BY PLUMBING

AutoCAD SHX Text
     TYPE DRY CHEMICAL UNLESS OTHERWISE SPECIFIED 

AutoCAD SHX Text
     WHEELED TYPE CO2 PORTABLE FIRE EXTINGUISHER.

AutoCAD SHX Text
     FLOOR DRAINS FOR OIL SPILLS SHALL BE PROVIDED 

AutoCAD SHX Text
     (INSIDE FIRE HOSE CABINETS.)

AutoCAD SHX Text
     BE PROVIDED WITH 10 LBS. FE-36 TYPE PORTABLE

AutoCAD SHX Text
     ALL ELECTRICAL, MECHANICAL, AHU ROOMS TO BE 

AutoCAD SHX Text
4.

AutoCAD SHX Text
     FIRE EXTINGUISHER.

AutoCAD SHX Text
6.

AutoCAD SHX Text
5.

AutoCAD SHX Text
SHIELDS OR HOODS.

AutoCAD SHX Text
     CONTRACTOR.

AutoCAD SHX Text
3.

AutoCAD SHX Text
2.

AutoCAD SHX Text
GENERAL NOTES :

AutoCAD SHX Text
1.

AutoCAD SHX Text
2-WAY SIAMESE TWIN ROOF OUTLET/

AutoCAD SHX Text
ROOF MANIFOLD

AutoCAD SHX Text
ALARM CHECK VALVE ASSEMBLY

AutoCAD SHX Text
PG

AutoCAD SHX Text
ACV

AutoCAD SHX Text
ABBREVIATION:

AutoCAD SHX Text
PG

AutoCAD SHX Text
GATE VALVE (OUTSIDE SCREW & YOKE)

AutoCAD SHX Text
ALARM CHECK VALVE

AutoCAD SHX Text
FIRE HOSE CABINET

AutoCAD SHX Text
RISER NIPPLE

AutoCAD SHX Text
PRESSURE GAUGE

AutoCAD SHX Text
DRAIN LINE

AutoCAD SHX Text
FIRE HOSE VALVE

AutoCAD SHX Text
PORTABLE FIRE EXTINGUISHER

AutoCAD SHX Text
FLOOR CONTROL VALVE

AutoCAD SHX Text
INSPECTOR TEST CONNECTION

AutoCAD SHX Text
DRAIN VALVE

AutoCAD SHX Text
CHECK VALVE

AutoCAD SHX Text
GATE VALVE

AutoCAD SHX Text
AUTOMATIC FIRE SPRINKLER SYSTEM

AutoCAD SHX Text
DRY STAND PIPE

AutoCAD SHX Text
PRESSURE GAUGE

AutoCAD SHX Text
FIRE LINES        

AutoCAD SHX Text
WFS

AutoCAD SHX Text
WATER FLOW SWITCH

AutoCAD SHX Text
     ALL PIPES PASSING THRU BEAMS/GIRDERS SHALL BE PROVIDED

AutoCAD SHX Text
     WITH PIPE SLEEVES.

AutoCAD SHX Text
7.

AutoCAD SHX Text
8.   FINAL QUANTITY OF FIRE EXTINGUISHER IS SUBJECT TO APPROVAL

AutoCAD SHX Text
OF THE BUREAU OF FIRE PERSONNEL.


4—WAY SWAY BRACE

AS APPROVED. 380 VOLTS, 3 PHASE 60 HERTZ

10 BE FILLED
s e R
' AN = OR APPROVED EQUAL
U-BoLT W/ NUTS : PIPE SLEEVES
SCHEDULE OF PIPE BRACKET/BRACING & WASHE! Smm THK. STEEL FLANGE EXPANSION
PIPE_SIZE[U—BOLT DIA.]ANGLE BAREXPANSION BOLT 3 WELDED TO PIPE SLEEVES RC. WALL LTS
50 10 50 X 50 10 EMMTHK FOR CONCRETE ANCHORAGE (VER. STRUCT'L)
65 10 50 X 50 10 ANGULAR BAR S MM.THK, WELDED CONNECTION
75 10 50 X 50 10 EXPANSION ANGULAR BAR
d BOLTS Wox T
100 12 65 X 65 12 D VERTICAL PIPE EPPIET?;&TM!E%RCAL
CONC. WALL “ PROPOSED (VER. SIZE) PLAN APPROVED EQUAL
; PIPE L
== SLEEVES W x T
\ ﬂ'F i UNISTRUT VERTICAL
WELDED CONNECTION PIPE CLAMP OR
ELEVATION APPROVED EQUAL
PIPE BRACKET A s
ol | i PROVIDE W ANGULAR BAR EXPANSION
A SCHEDULE OF PIPE SLEEVES : FIRE RATE
CONC. WALL SIZE OF SIZE OF [+ ] | [o 4 | | #]
‘ [ BRANCHLINES | PIPE SLEEVES g S
EXPANSION MATERIAL, MINERAL WOOL
BOLTS 25MMe SOMMe OR APPROVED EQUAL VERTICAL PIPE
BMM.THK. 32MM9 50MMg NOTES (VER. SIZE)
. U=BOLT W/ NUTS ANGULAR 4OMM® 65MM? SLEEVES SHALL BE PROVIDED AROUND ALL PIPING EXTENDING
45 & RsE OSER THROUGH WALLS, FLOORS, PLATFORMS AND FOUNDATIONS.
= SMMTHK 75 25 STIFFNER SOMM# 75MMe 1. THE CLEARANCE BETWEEN THE PIPE SLEEVES SHALL e
= U-BOLT W/ 65MM? 100MM9 BE FILLED W/NON—COMBUSTIBLE FLEXIBLE MATERIAL SUCH -
z Pv%lgz%g% PIPE (*\',%';'Z%’,‘gé)'- PIPE KR e prr AS MINERAL 'WOOL, FIBERGLASS OR EQUIVALENT.
BMM.THE. 7 B ’ ) WASHERS 2. MINIMUM CLEARANCE BETWEEN PIPE AND SLEEVES ELEVATION
CHANNEL BAR — HORIZONTAL PIPE 100MM# 150MM¢ SHALL NOT BE LESS THAN 25MM FOR PIPE 25MM
(VER. SizE) 150MMD 225WMe THROUGH .75MM & 40MM FOR PIPE SIZE 100MM AND m
LARGER FLOOR SLEEVES SHALL BE EXTENDED AT LEAST
SECTION SECTION 200MM@ 300MMe 75MM ABOVE THE TOP OF THE WEARING SURFACE. U E)OETTAIL OF RISER SVTV:\Y BRACE __

LATERAL BRACE

m DETAIL OF PIPE SLEEVE

% '@ 3
EXPANSION BMM.THK.
CONC. SLAB
BOLTS
Expansion  ANCULAR BAR
BMM.THK. BOLTS .
ANGULAR BAR HORIZONTAL PIPE BMM.THK.
(VER. SIZE) 3 ANGULAR BAR
g RS U
O 0 GMM.THK.
CHANNEL' BAR

( )

HORIZONTAL PIPE
(VER. saé&'

NOT

TO SCALE

A L LA -
\—SLAB SOFFIT

EXPANSION BOLT

R dia. THREADED ROD

'K’ dia. x ‘L’ LONG
THREADED ROD W/
NUTS & WASHERS

ELEVATION SECTION MATERIAL WIDTH
m & THICKNESS
DETAIL OF SWAY BRACINGS
LONGITUDINAL BRACE U = - T
STANDARD CLEVIS HANGERS
TABLE OF DIMENSIONS
D A B R |[wxT| kxL
P "-"lL 34 80 | 45 12 |25 x 3| M10 x 70
i - 43 9 | s0 12 |25 x 3|M10 x 80
L \_sus TABLE OF DIMENSIONS IN MM 48 | 95 | 50 | 12 [25 x 3[M10 x 85
DT)USLOE' ::s:A ZE[; o EXPANSION BOLT RIPE | RoD A 60 | 105 | 55 | 12 |25 x 3|M10 x 100
R" dia. THREADED ROD om ) R G| ¢ max, |WxT[ KxL 76 | 115 | 60 14 |40 x 6|M12 x 115
H < BOLT NUT AND WASHER 50 065 |111.12 | 143 69.30 |25 x 3| M10 x 85 89 125 | 60 14 |40 x 6 M12 x 130
o 75 12,7 | 105.0 165.1 | 30.23 |40 x 6| M12 x 115 114 145 65 18 |40 x 6|M16 x 160
@ 'K’ dia. x 'L' LONG 100 159 |13335 | 40 33.27 |40 x 6| M12 x 130
O O THREADED ROD W/ 150 | 194 [ 17612 267 | 50.00 |40 x 6|M16 x 190 140 | 165 75 18 |40 x 6| M16 x 190
( ) NUTS & WASHERS X X 165 | 185 | 80 18 |40 x 6|M16 x 210
MATERIAL WIDTH
& THICKNESS
ELEVATION SECTION
CLEVIS HANGERS m DETAIL OF PIPE HANGER m DETAIL OF PIPE HANGER
\ / NOT T0O SCALE \ / NOT TO SCALE
OWNER: Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
Republic of the Philippines CONSTRUCTION FP
DEPARTMENT OF SCIENCE AND TECHNOLOGY OF PLANNING TEAM Meriam F. Fallar Edward C. Albaracin As Sh
ilippine Science High School DORMITORY BUILDING | - - S own
; MIMAROPA Region Campus FAD Chief Campus Director 5 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:



AutoCAD SHX Text
PIPE BRACKET

AutoCAD SHX Text
E L E V A T I O N

AutoCAD SHX Text
SCHEDULE OF PIPE BRACKET/BRACING

AutoCAD SHX Text
U-BOLT DIA.

AutoCAD SHX Text
S E C T I O N 

AutoCAD SHX Text
LATERAL BRACE

AutoCAD SHX Text
ANGULAR BAR

AutoCAD SHX Text
HORIZONTAL PIPE

AutoCAD SHX Text
(VER. SIZE)

AutoCAD SHX Text
6MM.THK.

AutoCAD SHX Text
4-WAY SWAY BRACE

AutoCAD SHX Text
LONGITUDINAL BRACE

AutoCAD SHX Text
E L E V A T I O N

AutoCAD SHX Text
EXPANSION

AutoCAD SHX Text
BOLTS

AutoCAD SHX Text
CONC. SLAB

AutoCAD SHX Text
S E C T I O N 

AutoCAD SHX Text
U-BOLT W/ NUTS

AutoCAD SHX Text
HORIZONTAL PIPE

AutoCAD SHX Text
ANGULAR BAR

AutoCAD SHX Text
& WASHERS

AutoCAD SHX Text
(VER. SIZE)

AutoCAD SHX Text
6MM.THK.

AutoCAD SHX Text
(VER. SIZE)

AutoCAD SHX Text
HORIZONTAL PIPE

AutoCAD SHX Text
WASHERS

AutoCAD SHX Text
STIFFNER

AutoCAD SHX Text
ANGULAR 

AutoCAD SHX Text
RUBBER

AutoCAD SHX Text
NUTS &

AutoCAD SHX Text
U-BOLT W/ 

AutoCAD SHX Text
CONC. WALL

AutoCAD SHX Text
EXPANSION

AutoCAD SHX Text
6MM.THK.

AutoCAD SHX Text
BOLTS

AutoCAD SHX Text
BAR

AutoCAD SHX Text
65

AutoCAD SHX Text
10

AutoCAD SHX Text
100

AutoCAD SHX Text
75

AutoCAD SHX Text
12

AutoCAD SHX Text
10

AutoCAD SHX Text
PIPE SIZE

AutoCAD SHX Text
50

AutoCAD SHX Text
10

AutoCAD SHX Text
(VER. SIZE)

AutoCAD SHX Text
U-BOLT W/ NUTS

AutoCAD SHX Text
CONC. WALL

AutoCAD SHX Text
BOLTS

AutoCAD SHX Text
& WASHERS

AutoCAD SHX Text
6MM.THK.

AutoCAD SHX Text
ANGULAR BAR

AutoCAD SHX Text
EXPANSION

AutoCAD SHX Text
EXPANSION BOLT

AutoCAD SHX Text
50 X 50

AutoCAD SHX Text
10

AutoCAD SHX Text
HORIZONTAL PIPE

AutoCAD SHX Text
50 X 50

AutoCAD SHX Text
65 X 65

AutoCAD SHX Text
12

AutoCAD SHX Text
10

AutoCAD SHX Text
ANGLE BAR

AutoCAD SHX Text
50 X 50

AutoCAD SHX Text
10

AutoCAD SHX Text
CHANNEL BAR

AutoCAD SHX Text
6MM.THK.

AutoCAD SHX Text
S E C T I O N 

AutoCAD SHX Text
U-BOLT W/ NUTS

AutoCAD SHX Text
HORIZONTAL PIPE

AutoCAD SHX Text
ANGULAR BAR

AutoCAD SHX Text
& WASHERS

AutoCAD SHX Text
(VER. SIZE)

AutoCAD SHX Text
6MM.THK.

AutoCAD SHX Text
CHANNEL BAR

AutoCAD SHX Text
6MM.THK.

AutoCAD SHX Text
ANGULAR BAR

AutoCAD SHX Text
6MM.THK.

AutoCAD SHX Text
EXPANSION

AutoCAD SHX Text
BOLTS

AutoCAD SHX Text
(VER. SIZE)

AutoCAD SHX Text
HORIZONTAL PIPE

AutoCAD SHX Text
AS APPROVED. 380 VOLTS, 3 PHASE 60 HERTZ

AutoCAD SHX Text
FIN. FLOOR

AutoCAD SHX Text
75mm

AutoCAD SHX Text
75mm

AutoCAD SHX Text
NON-COMBUSTIBLE

AutoCAD SHX Text
TO BE FILLED W/

AutoCAD SHX Text
PROVIDE W/

AutoCAD SHX Text
SEALANT

AutoCAD SHX Text
FIRE RATED

AutoCAD SHX Text
W/ NON-COMBUSTIBLE

AutoCAD SHX Text
WELDED TO PIPE SLEEVES

AutoCAD SHX Text
FOR CONCRETE ANCHORAGE

AutoCAD SHX Text
5mm THK. STEEL FLANGE

AutoCAD SHX Text
SLEEVES

AutoCAD SHX Text
PROPOSED

AutoCAD SHX Text
PIPE

AutoCAD SHX Text
PIPE

AutoCAD SHX Text
PIPE SLEEVES

AutoCAD SHX Text
MATERIAL, MINERAL WOOL

AutoCAD SHX Text
TO BE FILLED

AutoCAD SHX Text
SIZE OF 

AutoCAD SHX Text
75MM%%C

AutoCAD SHX Text
150MM%%C

AutoCAD SHX Text
200MM%%C

AutoCAD SHX Text
100MM%%C

AutoCAD SHX Text
SIZE OF 

AutoCAD SHX Text
65MM%%C

AutoCAD SHX Text
50MM%%C

AutoCAD SHX Text
40MM%%C

AutoCAD SHX Text
32MM%%C

AutoCAD SHX Text
BRANCHLINES

AutoCAD SHX Text
25MM%%C

AutoCAD SHX Text
100MM%%C

AutoCAD SHX Text
225MM%%C

AutoCAD SHX Text
300MM%%C

AutoCAD SHX Text
150MM%%C

AutoCAD SHX Text
75MM%%C

AutoCAD SHX Text
100MM%%C

AutoCAD SHX Text
65MM%%C

AutoCAD SHX Text
50MM%%C

AutoCAD SHX Text
50MM%%C

AutoCAD SHX Text
PIPE SLEEVES

AutoCAD SHX Text
SCHEDULE OF PIPE SLEEVES

AutoCAD SHX Text
OR APPROVED EQUAL

AutoCAD SHX Text
OR APPROVED EQUAL

AutoCAD SHX Text
MATERIAL, MINERAL WOOL

AutoCAD SHX Text
LARGER FLOOR SLEEVES SHALL BE EXTENDED AT LEAST 

AutoCAD SHX Text
THROUGH .75MM & 40MM FOR PIPE SIZE 100MM AND

AutoCAD SHX Text
THROUGH WALLS, FLOORS, PLATFORMS AND FOUNDATIONS.

AutoCAD SHX Text
SLEEVES SHALL BE PROVIDED AROUND ALL PIPING EXTENDING

AutoCAD SHX Text
BE FILLED W/NON-COMBUSTIBLE FLEXIBLE MATERIAL SUCH

AutoCAD SHX Text
SHALL NOT BE LESS THAN 25MM FOR PIPE 25MM

AutoCAD SHX Text
THE CLEARANCE BETWEEN THE PIPE SLEEVES SHALL

AutoCAD SHX Text
AS MINERAL WOOL, FIBERGLASS OR EQUIVALENT.

AutoCAD SHX Text
MINIMUM CLEARANCE BETWEEN PIPE AND SLEEVES

AutoCAD SHX Text
75MM ABOVE THE TOP OF THE WEARING SURFACE.

AutoCAD SHX Text
2.

AutoCAD SHX Text
1.

AutoCAD SHX Text
NOTES :

AutoCAD SHX Text
LEVEL

AutoCAD SHX Text
BOLT NUT AND WASHER

AutoCAD SHX Text
"R" (MM)

AutoCAD SHX Text
DIA.

AutoCAD SHX Text
ROD

AutoCAD SHX Text
M16 x 190

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
M12 x 130

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
M12 x 115

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
K x L

AutoCAD SHX Text
W x T

AutoCAD SHX Text
M10 x 85

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
TABLE OF DIMENSIONS IN MM

AutoCAD SHX Text
A

AutoCAD SHX Text
MAX.

AutoCAD SHX Text
C

AutoCAD SHX Text
30.23

AutoCAD SHX Text
69.30

AutoCAD SHX Text
50.00

AutoCAD SHX Text
33.27

AutoCAD SHX Text
165.1

AutoCAD SHX Text
143

AutoCAD SHX Text
267

AutoCAD SHX Text
40

AutoCAD SHX Text
B

AutoCAD SHX Text
105.0

AutoCAD SHX Text
111.12

AutoCAD SHX Text
133.35

AutoCAD SHX Text
12.7

AutoCAD SHX Text
9.65

AutoCAD SHX Text
19.1

AutoCAD SHX Text
15.9

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
PIPE

AutoCAD SHX Text
75

AutoCAD SHX Text
50

AutoCAD SHX Text
150

AutoCAD SHX Text
100

AutoCAD SHX Text
"D" (MM)

AutoCAD SHX Text
176.12.

AutoCAD SHX Text
"R" dia. THREADED ROD

AutoCAD SHX Text
'W' x 'T'

AutoCAD SHX Text
ELEVATION

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
CLEVIS HANGERS

AutoCAD SHX Text
& THICKNESS

AutoCAD SHX Text
MATERIAL WIDTH

AutoCAD SHX Text
"R" dia. THREADED ROD

AutoCAD SHX Text
DOUBLE LOCK NUT

AutoCAD SHX Text
SLAB

AutoCAD SHX Text
'K' dia. x 'L' LONG

AutoCAD SHX Text
THREADED ROD W/

AutoCAD SHX Text
EXPANSION BOLT

AutoCAD SHX Text
NUTS & WASHERS

AutoCAD SHX Text
'W' x 'T'  UNISTRUT VERTICAL  PIPE CLAMP OR  APPROVED EQUAL

AutoCAD SHX Text
EXPANSION BOLTS

AutoCAD SHX Text
R.C. WALL (VER. STRUCT'L.)

AutoCAD SHX Text
6MM.THK. ANGULAR BAR

AutoCAD SHX Text
VERTICAL PIPE (VER. SIZE)

AutoCAD SHX Text
P L A N

AutoCAD SHX Text
E L E V A T I O N

AutoCAD SHX Text
VERTICAL PIPE (VER. SIZE)

AutoCAD SHX Text
'W' x 'T'  UNISTRUT VERTICAL  PIPE CLAMP OR  APPROVED EQUAL

AutoCAD SHX Text
EXPANSION BOLTS

AutoCAD SHX Text
6MM.THK. ANGULAR BAR

AutoCAD SHX Text
WELDED CONNECTION

AutoCAD SHX Text
WELDED CONNECTION

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
EXPANSION BOLT

AutoCAD SHX Text
'W' x 'T'

AutoCAD SHX Text
& THICKNESS

AutoCAD SHX Text
MATERIAL WIDTH

AutoCAD SHX Text
THREADED ROD W/

AutoCAD SHX Text
'K' dia. x 'L' LONG

AutoCAD SHX Text
NUTS & WASHERS

AutoCAD SHX Text
R dia. THREADED ROD

AutoCAD SHX Text
SLAB SOFFIT

AutoCAD SHX Text
M10 x 80

AutoCAD SHX Text
M10 x 70

AutoCAD SHX Text
M12 x 115

AutoCAD SHX Text
M10 x 100

AutoCAD SHX Text
M10 x 85

AutoCAD SHX Text
M16 x 160

AutoCAD SHX Text
M16 x 190

AutoCAD SHX Text
M16 x 210

AutoCAD SHX Text
M12 x 130

AutoCAD SHX Text
W x T

AutoCAD SHX Text
B

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
R

AutoCAD SHX Text
14

AutoCAD SHX Text
60

AutoCAD SHX Text
115

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
76

AutoCAD SHX Text
140

AutoCAD SHX Text
165

AutoCAD SHX Text
185

AutoCAD SHX Text
165

AutoCAD SHX Text
114

AutoCAD SHX Text
89

AutoCAD SHX Text
145

AutoCAD SHX Text
125

AutoCAD SHX Text
80

AutoCAD SHX Text
18

AutoCAD SHX Text
75

AutoCAD SHX Text
18

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
65

AutoCAD SHX Text
18

AutoCAD SHX Text
60

AutoCAD SHX Text
14

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
40 x 6

AutoCAD SHX Text
60

AutoCAD SHX Text
48

AutoCAD SHX Text
105

AutoCAD SHX Text
95

AutoCAD SHX Text
43

AutoCAD SHX Text
34

AutoCAD SHX Text
90

AutoCAD SHX Text
80

AutoCAD SHX Text
55

AutoCAD SHX Text
12

AutoCAD SHX Text
50

AutoCAD SHX Text
12

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
50

AutoCAD SHX Text
12

AutoCAD SHX Text
45

AutoCAD SHX Text
12

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
25 x 3

AutoCAD SHX Text
TABLE OF DIMENSIONS

AutoCAD SHX Text
STANDARD CLEVIS HANGERS

AutoCAD SHX Text
K x L


IDEWALL TYPE
PRINKLER HEAD

ECE s
RAND OR EQUAL

FLUSH TYPE
PENDENT SPRINKLER
HEAD MODEL SISO

*STAR" BRAND OR
250mm APPROVED EQUAL
CLOSED NIPPLE
CELING
SCUTCHEON 32mme (MAX.)
HOLE IN CEILING
CEILNG FLUSH TYPE PENDENT
LINE
RC. WALL
PIPE SLEEVE PROVIDED
ESCUTCHEON WITH NON~COMBUSTIBLE
PLATE MATERIAL, MINERAL WOOL

OR APPROVED EQUAL

UPRIGHT TYPE
SPRINKLER_HEAD
BRAND OR FQUAL
25.4x12.7mm
REDUCER

25Imm—5[')‘¢mm

256mm
BRANCH LINE CLOSED NIPPLE

256mm _TEE
90" ELBOW STANDARD
25¢6mm
CLOSED NIPPLE
BROPRED
NPPLE BRANCH LINE
25.4x12.7mm
MOUNTING REDUCER TYPE
INSTALLATION
SPRKLER MexD
CLOSURE NTRAL" "BEST*

258mm—50mm
BRANCH LINE

FILLED WITH FIRE RATED OR
FIRE STOPPING MATERIALS
OR APPROVED EQUAL
TYPICAL SIDEWALL TYPE

.B%ND OR EQUAL
TYPICAL COMBINATION TYPE

m DETAIL OF SPRINKLER HEADS

UPRIGHT TYPE

SPRINKLER HEAD

“CENTRAL","BEST"

BRAND OR EQUAL 25.4x12.7mm
REDUCER

256mm~-50¢mm 25¢mm

BRANCH LINE CLOSED NIPPLE

TYPICAL UPRIGHT TYPE

25.4x12.7mm
REDUCER TYPE
INSTALLATION

MOUNTING GYPSUM BOARD
PLATE CEILING FINISH

RECESSED TYPE

SPRINKLER HEAD
0 .
BRAND OR EQUAL

CLOSURE

TYPICAL RECESSED PENDENT TYPE

U NOT TO

SCALE

25.4x12.7mm
REDUCER TYPE

MOUNTING
PLATE INSTALLATION

GYPSUM BOARD
CEILING FINISH

COVER PLATE

CONCEALED TYPE
SPRINKLER HEAD
"CENTRAL","BEST"
BRAND OR EQUAL

TYPICAL CONCEALED TYPE

NCE
OUND

N

_

SIZE VARIES

25¢-LESS THAN 6.0M
32¢-6.10 TO 11.90M
408-12.00M & ABOVE

4

-
CL
ALL
\

%

200
LEAR DEPTH

100

R.C./CHB
WALL

65mme CAP
65mme

FIRE HOSE VALVE
CHAIN

150mme DRY
STAND PIPE RISER

65mme
FIRE HOSE VALVE

65mmg CAP
CHAN

150mmé DRY
STAND PIPE RISER

MECH'L. GROOVE
COUPLING

PIPE SLEEVE

FIN. FLOOR LINE

PROVIDED W/
FIRE RATED SEALANT

MATERIAL (FIRE
ELEVATION

PPING

/\ DETAIL OF DETAIL OF FIRE HOSE VALVE

T0_BE FILLED W/ NON-COMBUSTIBLE
SEALANT)

U NOT TO

SCALE

3MM THICK STEEL
PLATE RACKET

19 bs. (45 k)
PORTABLE FIR
EXTINGUISHER
(PFE FE—36)

EXPANSION
BOLT

CHB WALL

SECT

I ON

DETAIL OF 10 LBS. (4.5 KG)
f—\ PORTABLE FIRE EXTINGUISHER

NOT

\/

TO SCALE

750 (CLEAR WIDTH)

PLAN
(RECESSED TYPE)

SIZE VARIES

25¢—-LESS THAN 6.0M
32¢-6.10 TO 11.90M
409-12.00M & ABOVE

PLAN
(SURFACE MOUNTED)

SIZE VARIES

25¢-LESS THAN 6.0M
32¢-6.10 TO 11.90M
408-12.00M & ABOVE

0

LA

408 ANGLE VALVE W,
COMBINATION TYPE RESTRICTING
ANGLE VALVE AT FLR. LVL. W/
EXCEEDING DOWNSTREAM
PRESSURE OF 100 PSI.
ADJUSTABLE PRESSURE
RESTRICTING ANGLE VALVE

BRASS POLISHED FIRE FOG
ADJUSTABLE NOZZLE

408 x 30.00 M. LONG
RUBBER LINE COTTON FIRE
HOSE JACKETED W/ CHROME
PIN LUG COUPLING THREADED

10 LBS. DRY CHEMICAL
TYPE ABC PORTABLE FIRE
EXTINGUISHER

PULL FLUSH MOUNTING DOOR
W/ TRIM FOR ALL GLASS
PLATE SHALL BE GAUGE #18
W/ NOTE "BREAK GLASS IN
CASE OF FIRE™

ALUMINUM TRIM
YFINISH FLOOR LINE

ELEVATION

/\ DETAIL OF FIRE HOSE CABINET

NOT TO

N

SCALE

OWNER: Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
| Republic of the Philippines CONSTRUCTION FP
EEFARTMSENT OFHSlChIESNﬁE )IAND TECHNOLOGY OF PLANNING TEAM Meriam F. Fallar Edward C. Albaracin As Shown
S e High SCnoo DORMITORY BUILDING | FAD Chief C Direct
MIMAROPA Region Campus 1€ ampus Director 3 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:



AutoCAD SHX Text
TO BE FILLED W/ NON-COMBUSTIBLE MATERIAL (FIRE STOPPING SEALANT)

AutoCAD SHX Text
FIN. FLOOR LINE

AutoCAD SHX Text
PIPE SLEEVE 

AutoCAD SHX Text
MECH'L. GROOVE COUPLING

AutoCAD SHX Text
150mm  DRYSTAND PIPE RISER

AutoCAD SHX Text
CHAIN

AutoCAD SHX Text
65mm  CAP

AutoCAD SHX Text
65mm FIRE HOSE VALVE 

AutoCAD SHX Text
150mm  DRYSTAND PIPE RISER

AutoCAD SHX Text
CHAIN

AutoCAD SHX Text
65mm FIRE HOSE VALVE 

AutoCAD SHX Text
65mm  CAP

AutoCAD SHX Text
P L A N

AutoCAD SHX Text
E L E V A T I O N

AutoCAD SHX Text
PROVIDED W/ FIRE RATED SEALANT

AutoCAD SHX Text
TYPICAL SIDEWALL TYPE

AutoCAD SHX Text
SIDEWALL TYPE  SPRINKLER HEAD  "CENTRAL","BEST"  BRAND OR EQUAL

AutoCAD SHX Text
ESCUTCHEON PLATE

AutoCAD SHX Text
R.C. WALL

AutoCAD SHX Text
25 mm-50 mmBRANCH LINE

AutoCAD SHX Text
PIPE SLEEVE PROVIDED WITH NON-COMBUSTIBLE MATERIAL, MINERAL WOOL OR APPROVED EQUAL

AutoCAD SHX Text
FILLED WITH FIRE RATED OR  FIRE STOPPING MATERIALS OR APPROVED EQUAL

AutoCAD SHX Text
CEILING LINE

AutoCAD SHX Text
FLUSH TYPE PENDENT SPRINKLER HEAD MODEL SISO "STAR" BRAND OR APPROVED EQUAL

AutoCAD SHX Text
32mm  (MAX.)

AutoCAD SHX Text
HOLE IN CEILING

AutoCAD SHX Text
FLUSH TYPE PENDENT

AutoCAD SHX Text
25.4x12.7mm REDUCER TYPE INSTALLATION

AutoCAD SHX Text
GYPSUM BOARD CEILING FINISH

AutoCAD SHX Text
TYPICAL CONCEALED TYPE

AutoCAD SHX Text
UPRIGHT TYPE  SPRINKLER HEAD  "CENTRAL","BEST"  BRAND OR EQUAL

AutoCAD SHX Text
TYPICAL COMBINATION TYPE

AutoCAD SHX Text
CLOSURE

AutoCAD SHX Text
MOUNTING PLATE

AutoCAD SHX Text
25 mmDROPPED NIPPLE

AutoCAD SHX Text
90° ELBOW

AutoCAD SHX Text
25 mm-50 mmBRANCH LINE

AutoCAD SHX Text
TYPICAL RECESSED PENDENT TYPE

AutoCAD SHX Text
TYPICAL UPRIGHT TYPE

AutoCAD SHX Text
RECESSED TYPE SPRINKLER HEAD  "CENTRAL","BEST"  BRAND OR EQUAL

AutoCAD SHX Text
25.4x12.7mm REDUCER TYPE INSTALLATION

AutoCAD SHX Text
CLOSURE

AutoCAD SHX Text
MOUNTING PLATE

AutoCAD SHX Text
25 mmCLOSED NIPPLE

AutoCAD SHX Text
25 mm TEESTANDARD

AutoCAD SHX Text
25 mmCLOSED NIPPLE

AutoCAD SHX Text
BRANCH LINE

AutoCAD SHX Text
25.4x12.7mm REDUCER

AutoCAD SHX Text
25 mm-50 mmBRANCH LINE

AutoCAD SHX Text
UPRIGHT TYPE  SPRINKLER HEAD  "CENTRAL","BEST"  BRAND OR EQUAL

AutoCAD SHX Text
MOUNTING PLATE

AutoCAD SHX Text
25.4x12.7mm REDUCER TYPE INSTALLATION

AutoCAD SHX Text
GYPSUM BOARD CEILING FINISH

AutoCAD SHX Text
RECESSED TYPE SPRINKLER HEAD  "CENTRAL","BEST"  BRAND OR EQUAL

AutoCAD SHX Text
25.4x12.7mm REDUCER

AutoCAD SHX Text
25 mmCLOSED NIPPLE

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
25 mmCLOSED NIPPLE

AutoCAD SHX Text
SCUTCHEON

AutoCAD SHX Text
CEILING

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
CONCEALED TYPE SPRINKLER HEAD  "CENTRAL","BEST"  BRAND OR EQUAL

AutoCAD SHX Text
COVER PLATE

AutoCAD SHX Text
P L A N

AutoCAD SHX Text
PIN LUG COUPLING THREADED

AutoCAD SHX Text
HOSE JACKETED W/ CHROME

AutoCAD SHX Text
TYPE ABC PORTABLE FIRE

AutoCAD SHX Text
10 LBS. DRY CHEMICAL

AutoCAD SHX Text
PLATE SHALL BE GAUGE #18

AutoCAD SHX Text
PULL FLUSH MOUNTING DOOR

AutoCAD SHX Text
W/ TRIM FOR ALL GLASS

AutoCAD SHX Text
W/ NOTE "BREAK GLASS IN

AutoCAD SHX Text
E L E V A T I O N 

AutoCAD SHX Text
CASE OF FIRE"

AutoCAD SHX Text
ALUMINUM TRIM

AutoCAD SHX Text
EXTINGUISHER

AutoCAD SHX Text
ANGLE VALVE AT FLR. LVL. W/

AutoCAD SHX Text
COMBINATION TYPE RESTRICTING

AutoCAD SHX Text
40%%c ANGLE VALVE W/

AutoCAD SHX Text
EXCEEDING DOWNSTREAM 

AutoCAD SHX Text
RUBBER LINE COTTON FIRE

AutoCAD SHX Text
ADJUSTABLE PRESSURE 

AutoCAD SHX Text
40%%c x 30.00 M. LONG

AutoCAD SHX Text
BRASS POLISHED FIRE FOG

AutoCAD SHX Text
RESTRICTING ANGLE VALVE

AutoCAD SHX Text
PRESSURE OF 100 PSI. 

AutoCAD SHX Text
ADJUSTABLE NOZZLE

AutoCAD SHX Text
FINISH FLOOR LINE

AutoCAD SHX Text
 (SURFACE MOUNTED)

AutoCAD SHX Text
ABC

AutoCAD SHX Text
R.C./CHB

AutoCAD SHX Text
WALL

AutoCAD SHX Text
 (RECESSED TYPE)

AutoCAD SHX Text
200

AutoCAD SHX Text
CLEAR DEPTH

AutoCAD SHX Text
15

AutoCAD SHX Text
100

AutoCAD SHX Text
ALL AROUND

AutoCAD SHX Text
CLEARANCE

AutoCAD SHX Text
750 (CLEAR WIDTH)

AutoCAD SHX Text
P L A N

AutoCAD SHX Text
SIZE VARIES 25 -LESS THAN 6.0M32 -6.10 TO 11.90M40 -12.00M & ABOVE

AutoCAD SHX Text
SIZE VARIES 25 -LESS THAN 6.0M32 -6.10 TO 11.90M40 -12.00M & ABOVE

AutoCAD SHX Text
SIZE VARIES 25 -LESS THAN 6.0M32 -6.10 TO 11.90M40 -12.00M & ABOVE

AutoCAD SHX Text
3MM THICK STEEL

AutoCAD SHX Text
PLATE RACKET

AutoCAD SHX Text
SUPPORT

AutoCAD SHX Text
S E C T I O N

AutoCAD SHX Text
CHB WALL

AutoCAD SHX Text
10 lbs. (4.5 kg.)

AutoCAD SHX Text
PORTABLE FIRE  

AutoCAD SHX Text
(PFE FE-36) 

AutoCAD SHX Text
EXTINGUISHER

AutoCAD SHX Text
ABC

AutoCAD SHX Text
F.F.L.

AutoCAD SHX Text
EXPANSION

AutoCAD SHX Text
BOLT


PRESSURE
ALARM SWITCH

TO WATER %
MOTOR ALARM

RETARD
CHAMBER

MAIN DRAIN VALVE
(NORMALLY CLOSED)

CHECK VALVE

50MM# DRAIN PIPE
TO NEAREST DRAIN
OR SUMP PIT

%" U-BOLTS
SUPPORTS

FROM E:> i % THICK
FIRE PUMP NEOPRENE STIFFENER

20X50X50X J4* THICK
ANGULAR SUPPORT

150MM¢ FIRE

LINE

SYSTEM PRESSURE
GAUGE

SUPPLY PRESSURE
GAUGE

ALARM CHECK
VALVE
MAN CONTROL
VALVE

150MM¢ FIRE LINE

MECH'L. GROOVE
COUPLING *VICTAULIC",
MERAUFkLD(' BRAND

/\ DETAIL OF ALARM CHECK VALVE

U NOT TO

SCALE

s 08

CONNECTION LINE

RECTANGU

IDEN'I'IFICA'II:I%;‘I CHB OR R.C. WALL
PLATE 65¢x650x1008_2—-WAY
FIRE DEPARTMENT
CONNECTION INLET W/
CAP & CHAIN
SECTION
RECTANGULAR
IDENTIFICATION
PLATE W
VA NI /N
FRE TMENT | CONNE| INLET]
U ©
Y
N1

O

ELEVATION

/\ DETAIL OF FIRE DEPT CONNECTION

U NOT TO

SCALE

OMMg_FCV DRAIN

5
LINE STACK

SPRINKLER
HEAD

Bl
— 1k s

PIPE HANGER

"7 /
25MM@ BRANCH

LINE

SYSTEM PRESSURE

GAUGE

25MMg INSPECTOR TEST

WALL FASTENER

VALVE OR SIMILAR TO
UNION W/ CORROSION
RESISTANT ORIFICE
(GIVING FLOW EQUIVALENT
TO THE SMALLEST
SPRINKLER ORIFICE

OF THE SYSTEM)

SIMILAR TO "SURE—TEST"
BRAND WITH SIGHT GLASS
OR FM APPROVED EQUAL

25MM#x90
ELBOW

25¢ITC DL
CONNECTION LINE

FIN. FLR. LINE

SOMMg_FCV DRAIN
LINE STACK

PIPE SLEEVE PROVIDED
WITH NON—-COMBUSTIBLE
MATERIAL, MINERAL WOOL
OR APPROVED EQUAL

FILLED WITH FIRE RATED
OR FIRE_STOPPING MATERIALS
OR APPROVED EQUAL

OOMIN,

LIP-ON

== SLIP-ON

MECHANICAL
GROOVED
COUPLING

(COMBINED WET

F.FL

e

FIRE STOPPING

150MM¢ x 65MM¢
FIRE HOSE VALVE
W/ CAP & CHAIN

150¢ AFSS RISER
STANDPIPE SYSTEM)

\ PIPE SLEEVE W/

FLANGE

SYSTEM PRESSURE
GAUGE AT HIGHEST
FLOOR LEVEL aFOR
UPFEED SYSTEM)

BLIND FLANGE
CONNECTION

MECHANICAL GROOVE
COUPLING *VICTAULIC",
*METRAFLEX" BRAND

OR EQUAL

508 FCV DRAIN LINE
STACKED TAPPED TO
THE NEAREST DRAIN

150¢ AFSS RISER
AND DOWNFEED

ELECTRICAL
JUNCTION BoX
(Y EE WORKS) _ y ;N FLR. LvL

" ELECTL. CONDUIT

PIPE SLEEVE
PROVIDED W/ NON- T0 FIRE ALARM
COMBUSTIBLE MAT'L. CONTROL PANEL
MINERAL WOOL OR (BY EE WORKS)
APPROVED EQUAL el |
(
Q
=i INDICATING TYPE FEEDMAN N LINE TO SYSTEM
FLOOR CONTROL
VisSoRY wch 250N INSPECTOR

TEST VALME OR SIMILAR

TO UNION W/ CORROSION

MECHANICAL GROOVE
COUPLING *VICTAULIC",
“METRAFLEX™ BRAND
OR EQUAL

508 FCV DRAIN LINE
STACKED TAPPED TO
THE NEAREST DRAIN

65mmg
FIRE HOSE VALVE

1508 AFSS RISER
AND DOWNFEED

BLIND FLANGE
CONNECTION

SYSTEM PRESSURE

65mm¢ CAP
CHAIN

RESISTANT ORIFICE GMNEG

ORIFICE OF THE SYSTEM)
SIMILAR TO “SURE-

BRAND WITH SIGHT GLASS
OR FM APPROVED EQUAL

25mm@BALL VALVE
TYPE DRAIN VALVE

DETAIL OF SUPERVISORY FLOOR CONTROL VALVE ASSEMBLY

NOT

P

TO SCALE

FLANGE

MATERIAL

100MM@LONG
NIPPLE

40mm@CAP

BRANCH LINE

RISER NIPPLE

4]
)

40mm@CROSSMAIN
(MINIMUM)

m DETAIL OF FLUSHING CONNECTION

U NOT TO SCALE
m DETAIL OF INSPECTOR TEST CONNECTION DETAILS OF FIRE HOSE VALVE
\ / NOT TO SCALE \ / NOT TO SCALE
Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
Republic of the Philippines CONSTRUCTION FP
DEPARTMENT OF SCIERSE AND TECHNOLOGY OF PLANNING TEAM Meriam F. Fallar Edward C. Albaracin As Sh
ilippine Science High School DORMITORY BUILDING | - - S own

MIMAROPA Region Campus FAD Chief Campus Director 4 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:



AutoCAD SHX Text
110

AutoCAD SHX Text
100

AutoCAD SHX Text
90

AutoCAD SHX Text
80

AutoCAD SHX Text
70

AutoCAD SHX Text
60

AutoCAD SHX Text
40

AutoCAD SHX Text
20

AutoCAD SHX Text
30

AutoCAD SHX Text
50

AutoCAD SHX Text
10

AutoCAD SHX Text
110

AutoCAD SHX Text
100

AutoCAD SHX Text
90

AutoCAD SHX Text
80

AutoCAD SHX Text
70

AutoCAD SHX Text
60

AutoCAD SHX Text
40

AutoCAD SHX Text
20

AutoCAD SHX Text
30

AutoCAD SHX Text
50

AutoCAD SHX Text
10

AutoCAD SHX Text
MECH'L. GROOVE  COUPLING "VICTAULIC",  "METRAFLEX" BRAND  OR EQUAL

AutoCAD SHX Text
150MM  FIRE LINE

AutoCAD SHX Text
MAIN CONTROL VALVE

AutoCAD SHX Text
ALARM CHECK VALVE

AutoCAD SHX Text
SUPPLY PRESSURE GAUGE

AutoCAD SHX Text
SYSTEM PRESSURE GAUGE

AutoCAD SHX Text
150MM  FIRELINE

AutoCAD SHX Text
TO SYSTEM

AutoCAD SHX Text
FROM FIRE PUMP

AutoCAD SHX Text
50MM  DRAIN PIPETO NEAREST DRAIN OR SUMP PIT

AutoCAD SHX Text
CHECK VALVE

AutoCAD SHX Text
MAIN DRAIN VALVE (NORMALLY CLOSED)

AutoCAD SHX Text
RETARD CHAMBER

AutoCAD SHX Text
TO WATER  MOTOR ALARM

AutoCAD SHX Text
PRESSURE ALARM SWITCH

AutoCAD SHX Text
20X50X50X  " THICK 14" THICK ANGULAR SUPPORT

AutoCAD SHX Text
FIN. FLR.

AutoCAD SHX Text
12"  U-BOLTSSUPPORTS

AutoCAD SHX Text
12"  THICKNEOPRENE STIFFENER

AutoCAD SHX Text
BRAND WITH SIGHT GLASS

AutoCAD SHX Text
OR FIRE STOPPING MATERIALS  

AutoCAD SHX Text
OR APPROVED EQUAL

AutoCAD SHX Text
FIN. FLR. LINE

AutoCAD SHX Text
OR APPROVED EQUAL

AutoCAD SHX Text
FILLED WITH FIRE RATED

AutoCAD SHX Text
PIPE SLEEVE PROVIDED

AutoCAD SHX Text
WITH NON-COMBUSTIBLE

AutoCAD SHX Text
MATERIAL, MINERAL WOOL

AutoCAD SHX Text
GAUGE

AutoCAD SHX Text
CONNECTION LINE

AutoCAD SHX Text
25%%CITC DL

AutoCAD SHX Text
SYSTEM PRESSURE

AutoCAD SHX Text
OR FM APPROVED EQUAL

AutoCAD SHX Text
50MM%%C FCV DRAIN

AutoCAD SHX Text
LINE STACK

AutoCAD SHX Text
UNION W/ CORROSION

AutoCAD SHX Text
25MM%%Cx90

AutoCAD SHX Text
SPRINKLER ORIFICE

AutoCAD SHX Text
OF THE SYSTEM)

AutoCAD SHX Text
SIMILAR TO "SURE-TEST"

AutoCAD SHX Text
TO THE SMALLEST

AutoCAD SHX Text
(GIVING FLOW EQUIVALENT

AutoCAD SHX Text
RESISTANT ORIFICE

AutoCAD SHX Text
R.C. WALL

AutoCAD SHX Text
ELBOW

AutoCAD SHX Text
LINE

AutoCAD SHX Text
VALVE OR SIMILAR TO

AutoCAD SHX Text
25MM%%C INSPECTOR TEST

AutoCAD SHX Text
25MM%%C BRANCH

AutoCAD SHX Text
WALL FASTENER

AutoCAD SHX Text
50MM%%C FCV DRAIN

AutoCAD SHX Text
SPRINKLER 

AutoCAD SHX Text
HEAD

AutoCAD SHX Text
20

AutoCAD SHX Text
220

AutoCAD SHX Text
60

AutoCAD SHX Text
80

AutoCAD SHX Text
40

AutoCAD SHX Text
100

AutoCAD SHX Text
120

AutoCAD SHX Text
140

AutoCAD SHX Text
200

AutoCAD SHX Text
180

AutoCAD SHX Text
160

AutoCAD SHX Text
FIN. FLR. LINE

AutoCAD SHX Text
PIPE HANGER

AutoCAD SHX Text
LINE STACK

AutoCAD SHX Text
E L E V A T I O N 

AutoCAD SHX Text
FIRE DEPTARTMENT CONNECTION INLET

AutoCAD SHX Text
WET STANDPIPE SYSTEM

AutoCAD SHX Text
S E C T I O N 

AutoCAD SHX Text
65 x65 x100  2-WAYFIRE DEPARTMENT CONNECTION INLET W/ CAP & CHAIN

AutoCAD SHX Text
FIN. FLR. LEVEL

AutoCAD SHX Text
CHB OR R.C. WALL

AutoCAD SHX Text
150mm  (DSP)FIRE DEPARTMENT CONNECTION LINE

AutoCAD SHX Text
RECTANGULAR IDENTIFICATION PLATE

AutoCAD SHX Text
RECTANGULAR IDENTIFICATION PLATE

AutoCAD SHX Text
70

AutoCAD SHX Text
50

AutoCAD SHX Text
40

AutoCAD SHX Text
20

AutoCAD SHX Text
30

AutoCAD SHX Text
10

AutoCAD SHX Text
110

AutoCAD SHX Text
100

AutoCAD SHX Text
90

AutoCAD SHX Text
80

AutoCAD SHX Text
60

AutoCAD SHX Text
FIN. FLR. LVL.

AutoCAD SHX Text
10

AutoCAD SHX Text
70

AutoCAD SHX Text
50

AutoCAD SHX Text
40

AutoCAD SHX Text
20

AutoCAD SHX Text
30

AutoCAD SHX Text
110

AutoCAD SHX Text
100

AutoCAD SHX Text
90

AutoCAD SHX Text
80

AutoCAD SHX Text
60

AutoCAD SHX Text
90

AutoCAD SHX Text
100

AutoCAD SHX Text
30

AutoCAD SHX Text
20

AutoCAD SHX Text
110

AutoCAD SHX Text
10

AutoCAD SHX Text
60

AutoCAD SHX Text
80

AutoCAD SHX Text
40

AutoCAD SHX Text
50

AutoCAD SHX Text
70

AutoCAD SHX Text
TO SYSTEM

AutoCAD SHX Text
SYSTEM PRESSURE GAUGE AT LOWEST FLOOR LEVEL (FOR DOWNFEED SYSTEM)

AutoCAD SHX Text
BLIND FLANGE CONNECTION

AutoCAD SHX Text
150  AFSS RISERAND DOWNFEED

AutoCAD SHX Text
50  FCV DRAIN LINESTACKED TAPPED TO THE NEAREST DRAIN

AutoCAD SHX Text
MECHANICAL GROOVE  COUPLING "VICTAULIC", "METRAFLEX" BRAND  OR EQUAL

AutoCAD SHX Text
PIPE SLEEVE PROVIDED W/ NON- COMBUSTIBLE MAT'L. MINERAL WOOL OR APPROVED EQUAL

AutoCAD SHX Text
150  AFSS RISERAND DOWNFEED

AutoCAD SHX Text
50  FCV DRAIN LINESTACKED TAPPED TO THE NEAREST DRAIN

AutoCAD SHX Text
MECHANICAL GROOVE  COUPLING "VICTAULIC", "METRAFLEX" BRAND  OR EQUAL

AutoCAD SHX Text
BLIND FLANGE CONNECTION

AutoCAD SHX Text
SYSTEM PRESSURE GAUGE AT HIGHEST FLOOR LEVEL (FOR UPFEED SYSTEM)

AutoCAD SHX Text
INDICATING TYPE FLOOR CONTROL VALVE W/ SUPER- VISORY SWITCH

AutoCAD SHX Text
CHAIN

AutoCAD SHX Text
65mm  CAP

AutoCAD SHX Text
65mm FIRE HOSE VALVE 

AutoCAD SHX Text
SYSTEM  PRESSURE GAUGE

AutoCAD SHX Text
WATER FLOW SWITCH

AutoCAD SHX Text
CHECK VALVE

AutoCAD SHX Text
25MM  INSPECTORTEST VALVE OR SIMILAR  TO UNION W/ CORROSION  RESISTANT ORIFICE (GIVING  FLOW EQUIVALENT TO THE  SMALLEST SPRINKLER  ORIFICE OF THE SYSTEM)  SIMILAR TO "SURE-TEST"  BRAND WITH SIGHT GLASS  OR FM APPROVED EQUAL

AutoCAD SHX Text
25mm BALL VALVETYPE DRAIN VALVE

AutoCAD SHX Text
FEEDMAIN CONNECTION LINE

AutoCAD SHX Text
ELECTRICAL JUNCTION BOX (BY EE WORKS)

AutoCAD SHX Text
ELECT'L. CONDUIT TO  FIRE ALARM CONTROL PANEL (BY EE WORKS)

AutoCAD SHX Text
100MM%%CLONG

AutoCAD SHX Text
NIPPLE

AutoCAD SHX Text
40mm%%cCAP

AutoCAD SHX Text
(MINIMUM)

AutoCAD SHX Text
40mm%%cCROSSMAIN

AutoCAD SHX Text
RISER NIPPLE

AutoCAD SHX Text
BRANCH LINE

AutoCAD SHX Text
SLIP-ON FLANGE

AutoCAD SHX Text
SLIP-ON FLANGE

AutoCAD SHX Text
STANDPIPE SYSTEM)

AutoCAD SHX Text
MECHANICAL 

AutoCAD SHX Text
PLAN

AutoCAD SHX Text
100

AutoCAD SHX Text
100

AutoCAD SHX Text
100MIN

AutoCAD SHX Text
W/ CAP & CHAIN

AutoCAD SHX Text
FIRE HOSE VALVE

AutoCAD SHX Text
150MM%%C x 65MM%%C

AutoCAD SHX Text
FIRE STOPPING MATERIAL

AutoCAD SHX Text
PIPE SLEEVE W/

AutoCAD SHX Text
F.FL

AutoCAD SHX Text
COUPLING

AutoCAD SHX Text
GROOVED

AutoCAD SHX Text
(COMBINED WET

AutoCAD SHX Text
150%%C AFSS RISER


Em=—==—=———l |

33.00
1.50 3.30 : 3.30 3.30 3.30 6.60 3.30 3.30 3.30 3.30 1.50
\ 2
; - DN \ DN
@ = | | == =i i=— il J\ L [ =i = —— — T 1
015 o T r 3 % T8B T8B Ta8
8 INCOMNG T O URINAL
) CONNECTION —
< 9 9 O | oomwencen O O 5 Al 2 e O &
@ 5 ‘ ) LOUNGE [ — ‘ b
1SO. RM. 1SO. RM.
uP
OO‘-: ° PWD PWD. PWD C.R. PWD pwo. °
™) MECH. RM. @ @ @ @ EE RM.
D;g S\Rsm TT//‘:I H\ \ g § ‘/ \ § \ W RECEPT. i / 5 ‘ \ 4 g / ﬂ_‘ I:;g E/SER A
(% Iy o | L I [ \ / | o I AL ) 875 FHV
C ,%J H -3 i —| ! 3 — 7 [ i il [ =3 il 1 _mjj [
o i EE @50 T EE 350 T E/pre FHopre L 650 S50 ) g5 T 4
[<¢} 3 L HALLWAY HALLWAY
[8p/ N 1
4 = T — r&\ T T I T { e
T L CJ @ THEZ T L] (] - i
™ j O LA i DEL
)| = uP uP
O = =T i i+
o I H VIP AREA = =
o) up D l: ]J LoBBY =~ D—gj up
™ |
5 = \ o
ol FE . — FE
g
§ REFLECTION ROOM PANTRY
5 ‘ ‘ BED ROOM-2 OFFICE. : SADGET ROOM m 965 CV o
* Q BED ROOM-1 = N / ot |
™)
® J—— PANTRY : @ D @ @
: < =7 o ) Q 9 / [1O0
@ — — | =4 o[ y ) : I /)

|
@ MA\NRANCE él — @ g @ @ @
0] M 5
[
o
= K
DRIVEWAY | 8 LO
o
6!
GROUND FLOOR
1 FIRE PROTECTION LAYOUT
@ SCALE 1:150m
Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
Republic of the Philippines CONSTRUCTION FP
DEPARTMENT OF SCIENCE AND TECHNOLOGY OF PLANNING TEAM Meriam F. Fallar Edward C. Albaracin
Philippine Sci High School : : As Shown
MM%@&:;@;@” 'gam;us‘) DORMITORY BUILDING I FAD Chief Campus Director 5 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:



AutoCAD SHX Text
FF-1

AutoCAD SHX Text
FF-1

AutoCAD SHX Text
FF-3

AutoCAD SHX Text
FF-4


A A

¢ an

33.00
1.50 3.30 3.30 3.30 3.30 6.60 3.30 3.30 3.30 3.30 1.50
o
BALC. :
@ tH 0 tH = = £ [
o e T o D ¢ 4 4l
OO CONNECTION Q READING
@ - oD , . 4 al
’J O DORMER RM ; T : : . DORMER RM. DORMER RM O L’
- ’ o ! @\ | | iVa B s ugcp D
(e 850 WFS % % COMMON TOILET ||
o) 850 CV
on| 950 FCv % %
025 bV | COMMON TOILET J\\ (H; (H‘ ‘H\\ L T
;3 S:ff.'L TT//H s g HASL WAY DN DN HALLWR § 3| |$;g RISER T/
3 \\rh C ) 3 i) I N ) Jn) g | Al I35
:ﬁ ‘m * ! i L i tH T Ly . . (= I i ‘ (o i ! ‘ L
o #50 #50 - #50 - 950 50 = #50 =+ #50 = #50 T
o i R ° ° i T ° ° ° i
~ DN UP R i i " i . R @ UP DN
—j‘ s g; 11T g:t 1Tk g:t | ‘g;[ g& v, gj T1T g:t ' ‘rf
W19 B i i [ s
Q ] 1
4! il Bl A e iny o/ w1 N
. £ n )
&
o~
¥ ] ® ° ° ® ° ° ® ° ]
LOFT AREA % OPEN ABOVE ﬁt\ LOFT|AREA
® - i w .
™ Y
'S
@ o0 o 0 . & &) d 0 L o
0 7
=
N
0
6‘ [ ]
MEZZANINE FLOOR
1 FIRE PROTECTION LAYOUT
@ SCALE 1:100m
Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
Republic of the Philippines CONSTRUCTION FP
DEPARTMENT OF SCIENCE AND TECHNOLOGY OF . :
Philippine Science High School DORMITORY BUILDING | PLANNING TEAM Meriam F. Fallar Edward C. Albaracin As Shown
MIMAROPA Region Campus FAD Chief Campus Director 6 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:




33.00
1.50 3.30 3.30 ‘ 3.30 3.30 6.60 3.30 3.30 ‘ 3.30 ‘ 3.30 1.50
| |
| | |
‘ | CANOPY IN ALUMINUM COMPOSITE PANEL ‘
‘ I (ACP) ‘
GRILLS GRILLS GRILLS GRILLS
1 o) [J\ = || 1 [ = | = 1 [ =SS il 1 [ ] [ L}
o oo. ~dl e || jT Al oo || j foe || jT Al et pore
0| =1 [ ===
l 9
SH HO SH HO' HO SH HO
o STORAGE o) 0 0 Q STORAGE
S ‘fég ‘("VFS DORMER RM. DORMER RM. DORMER RM DORMER RM. DORMER RM. DORMER RM. DORMER RM. DORMER RM. DORMER RM. DORMER RM.
oy (z) 9 o :
5 ORAN 1/a ‘ ‘ ‘ ‘ l ‘ ‘ L ‘ ‘ L ‘ ‘ I:;z RER 174
@ o il [r 25¢RN Ll SRN *“ i SRN 258RN RN 256RN RN - 256RN | SRN ;é, 8175 FHV
H L El I Ell3 1 I Ell3 I Ell3 1 I El I JF 1 I £l I F 1 I El I 1 | j H
o %65 265 %65 %65 %65 265 i
O
o0
(v‘_—j :\I" EX‘T coriBor O O O} O} CORRIPOR EX\'IF:
FHU/FE wl wl w w w| | FHOFE
ON < s < 8 GRILLS GRILLS 5" S| S| D il
4 ’T J\ F T T Ell3 T J\ Ell3 T T T [ F T J\ F T F } 7\\;7
3 (RN 2 N i i DI RN
“ GRILLS (MGRILLS
' | 727777777777777) Hih il V7722272277277
4 I i
(e
(0:;- ~ DORMER RM. DORMER RM DORMER RM. DORMER RM DORMER RM. DORMER RM
9 ® @ @ ® ®
N — — OPENGBELOW S — E—
ATRIUM
g ! ||
9) & th
™ Y S
@
~—|
@ 2 : ‘ :
S
:| (@
0 0| l l
L0
6!

10.03

SECOND FLOOR

1 FIRE PROTECTION LAYOUT

SCALE

FP-7

1:150m

OWNER: Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
Republic of the Philippines CONSTRUCTION FP
EEFARTMSENT OFHSlChIESNﬁE )IAND TECHNOLOGY OF PLANNING TEAM Meriam F. Fallar Edward C. Albaracin As Shown
S e High SCnoo DORMITORY BUILDING | FAD Chief C Direct
MIMAROPA Region Campus 1€ ampus Director 7 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:




33.00
1.50 3.30 3.30 ) 3.30 3.30 6.60 3.30 3.30 } 3.30 ; 3.30 1.50
| | |
1 1 |
‘ ‘ CANOPY IN ALUMINUM COMPOSITE PAF{EL ‘
! | (acP) \ !
GRILLS 57 AR /737 e 777777 GRILLS GRILLS GRILLS
@ LOLFJ‘ =S miin== e | =Smiin== f IS EE—= I =Salln== T =SEmEn== ‘LTJ
. Q /\ OD BO we Oﬂ Dowc. i , we OU Bowc. i we OU B WC. i , we OU DOWC.
O =71 [ = === -
| SH HO SH HO SH HO SHI HO |
STORAGE 0 o o W1 o o ] o) 1 o) o) 1 STORAGE
8 gzg ‘EVVFS DORRM DORMER RM DORMER RM. DORMER RM. DORMER RM DORMER RM DORMER RM. DORMER RM. DORMER RM. DORMER RM.
o o (g O] (g 8@ C: 10, € 10, € O
33 m T(///;'_ \:_' #75 RISER T/A
@75 CV
@ N o il :ﬂ\ ‘ 258RN Ll ‘ SRN *“ ‘ I ‘ l BRN ‘ﬂ\ ‘ 250RN L ‘ L RN 1_“\ ‘ 256RN ‘ L RN "ﬂ\ ‘ 256RN [ ‘ BRN ﬁ, #75 FHV
1 [r [ Eilg [ B3 1 [ E [ B3 1 [ ] [ JE 1 [ JE [ 1E 1 [ Eilg [ 1 Lj 8|
965 965 965 965 965 965 <
8 o
Q' : T corKBOR o o ) ) coreibor vz
DN i § § § GRILLS GRILLS 8“ g § § i
@ :T J\ E T T JE | J\ JE | 1T T T T T T T 1T 1 [ E | J\ E | | E }'7 ﬁ7
3 (N N i i L TR
2 GRILLS 7f‘ CGR\LLS
@ 77777777777 L _‘ r 1] Vrzzzzzz272772)
RN} il
o
g DORMER RM DORMER RM DORMER RM. DORMER RM DORMER RM DORMER RM.
5 L | @ @ | ||| ® ® | | ® ® [ |
3
® =N Al - :
. a « «
w_ 0 = —— | | §
. N o /N | v ogjgo | I / ;Oi io;
() :7 = = ] = f ] = T
S
O 8 i \
10
6’
10.03
1 THIRD FLOOR
FP_8 SCALE 1:150m
OWNER: Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
Republic of the Philippines CONSTRUCTION FP
EEFARTMSENT OFHSlChIESNﬁE )IAND TECHNOLOGY OF PLANNING TEAM Meriam F. Fallar Edward C. Albaracin As Shown
S e High SCnoo DORMITORY BUILDING | FAD Chief C Direct
MIMAROPA Region Campus 1€ ampus Director 8 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:




ORI e

DR

33.00
1.50 3.30 3.30 3.30 3.30 6.60 3.30 3.30 3.30 3.30 1.50
0.50MM THK. PRE-PAINTED LONG SPAN
RIB TYPE ROOFING
@ 0] 0] 0] o o o
™
0
(2) 1
[/
|
o
@ iéixi‘is‘fw?éﬂl_
JAMESE TWIN
C OUTLET | L@
v o
o g
9
Onmer
o
W)
[/
[}
N
0
N
™)
0
@ T 0] 0] o 0] o o
o
<
0 T
CANOPY IN ALUMINUM COMPOSITE PANEL
(ACP)
6!
m ROOF DECK
@ SCALE 1:150m
OWNER: Project Title: Prepared by: Recommending approval by: Approved by: Sheet Content: Sheet No.
Republic of the Philippines CONSTRUCTION FP
DEPARTMENT OF SCIENCE AND TECHNOLOGY OF PLANNING TEAM Meriam F. Fallar Edward C. Albaracin As Shown
& Philippine Smencg High School DORMITORY BUILDING | FAD Chief C Direct
' MIMAROPA Region Campus e ampus Director 9 9
Brgy. Rizal, Odiongan, Romblon 5505 Location: Brgy. Rizal, Odiongan Romblon 5505 Date Prepared: Date: Date:




	Sheets and Views
	FP-A3

	Sheets and Views
	FP-A3

	Sheets and Views
	FP-A3

	Sheets and Views
	FP-A3

	Sheets and Views
	FP-A3

	Sheets and Views
	FP-A3

	Sheets and Views
	FP-A3

	Sheets and Views
	FP-A3

	Sheets and Views
	FP-A3


